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1. Gautam has 676 berries. Amber has 3720 berries. How many fewer berries does Gautam
have than Amber?

=

2. 5025 plums are on the table. 337 of them are purple and the rest are blue. How many plums
are blue?

=

3. Anthony has 387 fewer berries than Aditya. Aditya has 3093 berries. How many berries
does Anthony have?

=

4. Nadia's mom gave 9737 pears to take to school. Nadia gave 977 pears to her friends. How
many pears are left over?

=

5. Luke has 1676 goats. 329 of the goats are black and the rest are gray. How many of his
goats are gray?

=

6. Vivian has 998 kiwis. Anh has 2788 kiwis. How many more kiwis does Anh have than
Vivian?

=
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7. 1543 pears are on the table. 661 of them are purple and the rest are gold. How many
pears are gold?

=

8. Anika has 680 fewer berries than Andrea. Andrea has 1742 berries. How many berries
does Anika have?

=

9. Zoe has 414 oranges. Amira has 3102 oranges. How many more oranges does Amira
have than Zoe?

=

10. Miranda's mom gave 3493 berries to take to school. Miranda gave 664 berries to her
friends. How many berries are left over?

=

11. Sabrina has 133 fewer oranges than Bob. Bob has 4964 oranges. How many oranges
does Sabrina have?

=

12. Ajay has 613 oranges. Tyler has 7644 oranges. How many fewer oranges does Ajay have
than Tyler?

=

Name:______________________________ Date:____ /____ / 2025     Start:____________   End:____________
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